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¢) Find the volume of the solid generated when S is revolved about the horizontal line y=-1,
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R

is a §Sosceles Tight triaiigle:
notation as well as the 1 numerlo approxxmatlon rounded to 3 decimal placeq)
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d) The enclosed region R is the base of a solid. The cross section of the solid taken parallel to the v-axis :
With leg ofrbase! Find the volume of the given solid, (Write the integral |
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2) Given the region below enclosed by f(x) = In(4 — x) , the line x = -1, and the x-axis. \V[ Wz

a) Find the Volume of solid generated when the enclosed region is revolved about the line x = ~1 (Write
’ ‘ “ the ntegral notation as well as the numeric approximation rounded to 3 decimal places)
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b) Find the Volume of solid generated when the cnclosed region is revolved about the line x =4 (Write
the integral notation as well as the numeric approximation rounded to 3 decimal places)
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¢) The enclosed region is the base of a solid. The cross section of the solid taken parallel to the X-axis is
g rectangle whose height is 43 Find the volume of the given solid. (Write the integral notation as well as
the numeric approximation rounded to 3 decimal places)
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Ch. 7 Area/Volume AB FRQ Problems Worksheet #3

o

Let R be the region bounded by the graph of p = g’i‘)"‘:"*’ﬁ xemd the ¥
brizondal fineg ¥o= ,Z? and lef § be the ragum boonded ﬂgy the gmph of "-?.n !
¥ = 3?‘“‘"“"} and the hovizontal lings ¥ =1 and ¥ = 2, as shown above, )
fay Find the area of R. _
ib) Fin the area of 5. 3 ;
{e) Write, but do not evaluate, an integral expression that gives the
valume of the solid generated when R is motated ahont the kY
herizontal ling 3 =1.
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2)

A haker is oroating o birthday cake. The base of the cake i the _ , P
region R in the fisst quadvant under the graph of y = f{ x) for md ' o ' ! 3 .

0= x £ 30, where f{a}= E.G)san(vvjﬁj, Both x and 3 arc 1ok

measured in centimeters. The region R is shown in the figure 124

above. The derivative of Fis 1) = mws{ 3 m} Bt
1-4_- -
(8) The regia:m R is out out of & 30-centimeter-by-20- L
centimeter reetangu]ar sheet of cardboard, and the @ 5
rernaining cardboard is discarded. Find the area of the

discarded cardboard.

(b} The cake is o solid with base R. Cross sections of the cake pﬂ‘pmdwuﬁﬂr te the y-axis are
semicireles. I the baker uses 0.05 gram of unsweetened chocolate for each eubic centimeter of vake,

- how many grams of unsweetened chooolate will be i the cake? 120 ; X >
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Let R b the region in the first quadrant bounded by the praph of 3 = 2#'“ the horizontal line y = 6, and the

y-axis, as shown in the figure above. :

{&) Find the area of R.

(b} Write, but do not evaluate, an integral expression that gives the volume of the mhd penerated when R is
rotated about the horizontal line y = 7.

{r) Region R is the base of a solid. For each v, where 0 € ¥ £ 6, the cross section of the solid taken

perpendicular to the y-axis is a revtangle whose height is ¥ times the length of its base in region R. Write,
bt do not evaluate, an integral expression that gives the valume of thn solid.
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4)

Let B bethe shaded region bounded by the graph of y = xe” , the ling y = -2x,
and the vertical line x = 1, gs shown in the figure above. | ( b

(g} Food the aren of B,
(b} Write, but do not evalyate, an integral expression that gives the volume of the
solid generated when & is rotated about the horizontal line p = =2,
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AB Calculus _ Chapter 7.1-7.2 Review Worksheet #4

1. (Non-CaIcuI}at’or) )

_—\ '
(' / Let R be the mg,t-"ar; in the fiest quadrant enclosed by the graphs of 3= 2x and

2 . .
¥ = x°, as shown in the figure above,

_(a) Findtheareaof R,

(by Theregion R is the base of a solid. For this solid, af each x the oross
section perpendioulat to the x-aiis has area 4(x) = mn(%r) Find the
volume of the solid.

{c) Another solid has the same base R. Forthis sofid, the cross sections
pespendicular to the y-axis are squares, Wiite, but do not evaluate, an

i | ax ion for th of the solid.
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2) {Non-Calculator)

Let f(x} = 2% —bx + 4 and glx) = A-cns:{%m:}, Let R bethe rogion

" bounded by the graphs of £ and g, as shown in the figure above. . ‘ e

I .3

()

(a) Findthe arga of R,

{b) Whrite, but do npt evatuate, an integral expre’-'nsmn that gives the
volume of the solid gwerated when R is rotated about ﬂm ‘
homzontai line p = 4. (2] B

(r) Theregion R isthe base of a solid, For this solid, each crose seotion pexpwdxou!ar to the x-axis is A square.
Wrrite, but do not evaluate, an integral e},pressmn that gives the volume of the solid.
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A.P. Calculus AB___ Chapter 7.1-7.2 Area & Volume Unit Review WS #3

1) Given the region below enclosed by f (x) = ln(x - 3) theline y =7~ —x and the x - axis.

| Methd 4 (sz /e-/ﬁ)

Me“/’/tove (Tap 80’ 71‘?*(‘.) ¥l Jc/’ﬁar«\?{f ;n’f@ggvé

%34 4y

i ' :
Hetn= i',’«(x 3)-0 dx +| 7 X ~odx

2) Given the region below enclosed by f(x) = n(x + 6) the line y = —3, and x = 5,

a) Find the Volume of solid generated when the enclosed region is revolved about the line y =4
(Write the integral notation as well as the numeric approximation rounded to 3 decimal pl % laces)

¥ ﬂ\(x%) N ¥ Washe, Methol (Top:- 8ot fom
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b) Find the Volume of solid generated when the enclosed region is revolved about the line x = 5 (Write

the integral notation as well as the mgmerxc approximation rounded to 3 decimal places) f’
{ ) 3(»1 »
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() = fa (44 )
%'xgﬂ}[xw g(g)w%[wg) Al=3375

| ; ed= x4
¥ Dise Method AoR 4,
(Right =LeAH) vors | € £=X




3) Given the region below enclosed by f(x) = vx +6 ,the g(x) =e*+1

a) Find the Volume of solid generated when the enclosed region is revolved about the line x =~6 (Write.
the integral notation as well as the numeric approximation rounded to 3 decimal places) 42
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b) The enclosed region is the base of a solid. The cross section of the solid taken parallel to the y-axis is
a isosceles right triangle with hypotenuse on base. Find the volume of the given solid. (Write the integral
notation as well as the numeric approx1mat10n ‘rounded to 3 demmal places) t pX P
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4) Given the region below enclosed by f(x) = —x* + 4 and g(x) = »-lx +2 40 P yz éf,

Find the Volume of solid generated when the enclosed region is revolved about the line y=4 (Write the
A oR integral notation as well as the numeric approximation rounded to 3 decimal places),
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